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1. (a) Nuru shares 30 counters between A and B in the ratio 2 : 3
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Complete: A gets ..... and B gets
(b) Share 14 counters between C and D in the ratio 3 : 4
C D
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Complete: C gets ..... and D gets
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2. (a) Bendict shares 24 counters between A and B in the ratio 5 : 3
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Complete: A gets ..... and B gets ......
(b) Share 15 counters between C and D in the ratio 1 : 2

CcC D

Complete: C gets ..... and D gets ......
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3. (a) Mary shares 28 counters between A and B in the ratio 2 : 5
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Complete: A gets ..... and B gets ......
(b) Share 15 counters between C and D in the ratio 4 : 1

CcC D

Complete: C gets ..... and D gets ......

©@O®SO ratio (1) SRS Learning Limited



teach-learn ratio (1) timelypractice.com

4. (a) Addi shares 16 counters between A and B in the ratio 3 : 1
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(b) Share 14 counters between C and D in the ratio 2 : 5

CcC D

Complete: C gets ..... and D gets ......
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Answers

a

b

a

a

b

a
b

12 and 18
6 and 8

(a)

(b)

(a) 15 and 9
(b) 5 and 10
(a) 8 and 20
(b) 12 and 3
(a)
(b)

12 and 4
4 and 10
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